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(You may give your answers in English or Chinese)
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1. (25%) All the following verbs carry an —~ize suffix. They are denominal verbs, viz. verbs that are derived
from their nominal roots by affixing a suffix to them. Four classes of verbs can be established in terms of the
semantic role of each and every underlying noun. Establish semantic or conceptual structure by making use of a
set of more abstract semantic elements. For example, the verb ‘kill’ can be conceptualized as ‘cause someone o

be no longer alive’. Translate each verb into Chinese and comment on whatever difference and sameness
between English and Chinese.

(Gloss Examples
apologize offer someone an apology apologize to her teacher
unionize ﬂrgaﬁize people to become unionize the worker
members of a union
oxidize make something combine with oxidize the iron
oxygen
epitomize cause something to become an epitomize the country’s spirit
epitome
ionize turn something into an ion- ionize the chemical elements
scandalize  {bring somebody a scandal scandalize the voters
hospitalize  jtake someone to a hospital for hospitalize the wounded
medical treatment soldiers
anesthetize  [give someone an anesthetic to anesthetize the patient

make him insensitive to pain

civilianize  |change someone to civilian status civilianize the armed forces

Compare the established classes with such denominal verbs with zero derivation as ‘bag’, ‘bottle’, ‘water’,
‘paint’, ‘powder’, ‘orphan’, etc., and find out which one fits each class that has been set up.
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2. (25%) Shown below are three types of sentences marked off by thicker lines. Sentences with the asterisks
are ungrammatical, Each type of sentences shows alternations of constructions governed by some kinds of
constraints. Provide a unified account for the distinction between Type I and Type II in the light of the
alternation in Type 3 as well as the corresponding sentences in Chinese.

Type Examples Note

la Mary gave ;inh tﬂl Mike.
1b [*Mary gave Mike birth.
le [* Mike got birth.

] 2a (War gave rise to inflation.

2b [*War gave inflation rise.

2¢ |*Inflation got rise.

3a |Drivers must give way to pedestrians.

3b *Drivers must give pedestrians way.

3¢ |*Pedestrians got way.

4a [The snake gave the girl the creeps, The snake frightened
the girl

4b [*The snake gave the creeps to the girl, {The snake frightened
the girl

11 4¢ |The girl got the creeps. The snake frightened

the girl

Sa |Lily gave Jack the boot Lily fired Jack

5b |*Jack gave the boot to Jack., Lily fired Jack

Sc [Jack got the boot. Jack got fired

6a |Mother gave Jill a doll
I3 ob [Mother gave a doll to Jill.
6¢ [Tl got a doll/Jill have a doll.
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3. (25%) Kikongo, a Bantu language spoken in southwestern Zaire, shows an interesting phenomenon of
nasal harmony. As shown in the following table, the perfective active suffix —idi and the perfective passive
suffix —ufu become —ini and ~unu, respectively. State the condition under which such a change takes place.

examples gloss
la M-bud-idi ‘T hat’
M-bul-ulu ‘I was hit’
N-suk-idi ‘I washed’
N—suk—ulu_ - _ ‘T was washed’
1 Tu-kun-ini ‘We planted’
Masangu ma-kin-unu “The maize was planted
Tu-nik-imni “We ground’
Mafangu ma-mk-unu "The Maize was ground”

In view of the further data as given below, modify the rule that you propose for the data above.

2a Tu-bing-idi “We hunted’
Tu-bing-ulu “We were hunted’
Tu-kong-idi ‘We tied’

mTu-kﬂng-ﬂln “We were tied’

2b Tu-meng-int *We hated’
Tu-meng-ono “We were hated’
Tu-mant-ini “We climbed’
Wu-mant-unu ‘It was climbed’

Note that (2a) and (2b) provide seemingly conflicting conditions that need to be resolved.
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4. (25%)The adjective J#i can function as a complement to a set of verbs to form verb complexes like i, 5
W, 0y, BEWE, 453, T, and so on. Based on the sentences in the following table explore the semantic

and syntactic perspectives of the verb complexes in question. Besides the verbs as given above what are other
verbs that are eligible to take the complement -#5? Ferret out what class of verbs that can enter into the

sentence patterns in question, What are the common features shared by all sentences that embrace the verb

complexes involved?

la B M P — R

1b S0 S PR A

lc — B 4 A

1d K LGP T A |

2a 2 A8  Bw\THEA
2b FEER ~ PO RN T FTRGmrh

2¢ LT EREENE

2d R T HGRRNER

3a TR 7 7K

3b —BE A AR T IRETF

3¢ 5 I el iR

3d FEhEL L ARk

3e ftbrE B LA

3f i K AT T

4a ErESERARE

4b ALALITEBRRE 7 AADE

4¢ — RO BN T e

4d & LREFRE R 7T

5a ARBRSER— U

S5b e IR AT W ] ZROK

5¢ FAF R T A4

5d TERE - ST B vk B

Se FLTEE R FURGR AR - B T+ — 188
6a PRIE SR B R T Ak R

6b WOk MW K

6c R 2 TRMRIHGE R — A2 8 N F
6d ASBSFRYRZE MR T A/ OGRS
6e B e e




